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S LHE

> Lol LHEZ (1 ~18/27)
> http://lily.mmu.ac.kr/lecture /13u2 /chO1.pdf
s AFTXFE 1 (make)
> http: //lily.mmu.ac.kr /lecture /12u2 /UNIX_mk.pdf
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Check List
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A & XEF (1)

» Makefile

1 CC = gcc

2 CFLAGS = -g

3

4 test exl 1: exl 1.h sum of nos.o test sum of nos.o

5 $(CC) S (CFLAGS) -o test exl 1 sum of nos.c test sum of nos.o
6

7 exl 1: exl 1.h sum of nos.o exl 1l.o

8 $(CC) S (CFLAGS) -o exl 1 sum of nos.c exl 1l.o
9
10 all:
11 make test exl 1
12 make exl 1
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AHH| X = (2)

»Ex1 1.h

#ifndef EX 1 1 H
#define EX 1 1 H

1
2
3
4 int sum of nos(int nol, 1int no2);
5
6

#endif

6 SE 3y ofTy B fUFEDY



AHH| 2K (3)

» test sum_of nos.c

1 #include <stdio.h>

2 #include "exl 1.h"

3

4 main ()

5 {

6 printf ("Result (4< ~ <7): %d\n", sum of nos(4, 7));
7}
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A X = (4)

1 #include <stdio.h>
> 2 #include <stdlib.h>
eX.I .I .C 3 #include "exl 1.h"
- 4
5 #define BUFFER SIZE 255
6
7 int main ()
8 {
9 int end of input = 0;
10 int scan_rt; /* return value of scanf */
11 int numl, num2;
12 char invalid str[BUFFER SIZE];
13
14 printf ("Enter two positive numbers: ");
15
16 while (!end of input) {
17 scan_rt = scanf ("%d %d", &numl, &num2);
18 if (scan_rt == 2)
19 end of input = 1;
20 else if (scan_rt == EOF) {
21 perror ("scanf");
22 exit (1) ;
23 }
24 else {
25 scanf ("%s", invalid str);
26 printf ("Enter two positive numbers: ");
27 }
28 }
29
30 printf ("Result (%d ~ %d): %d\n", numl, num2, sum_of nos(numl, num2));
31
32}
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S LHE

ol W8 (19 ~ 27)
> http://lily.mmu.ac.kr/lecture /13u2 /chO1.pdf
» X DXFE 2 (gdb)
> http: / /lily.mmu.ac.kr /lecture /12u2 /UNIX_gdb.pdf
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